Mathematics Sample Paper - 1

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 1
f(x) is a continuous function that takes only rational values. If f(0) = 3, then f(2) is equal to

A)5 B)0O C)1 D) None of these

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 2
Let f(x + y) = f(x) f(y) for all x and y. Suppose that f(3) = 3 and f '(0) = 11, then f " (3) is given by

A)28 B)22 C) Noneofthese D)33

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 3
Let A = {p,q.r}. Which of the following is an equivalence relation on A ?

A)R1={(p.9). (q.r), (p.1), (P.P)}  B) R2={(r,q), (r.p), (1), (@.9)}  C) R3={(p.p), (@.q), (1), (P.q)} D) None of these
E) All of these

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 4
If A ={a, b, c d}, then arelation R = {(a, b), (b, a), (a, a)} on A is

A) symmetric and transitive only  B) Reflexive and transitive only  C) symmetric only D) Transitive only
E) none of these

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 5

Match the following

Function Range

(1)Sin—1 () [0, 7]

@eos ! o ["2“- ﬂ

r~-.l|H
l~J|m
—

-1 _
(3) tan (i) [

(4) cot *! (iv) (0, m)

A) (D-(iii), (2)-(i1), (3)-(0), (4)-(iv) ~ B) (1)-(iii), (2)-(ii). (3)-(iv), (4)-(1) ~ C) (D)-(ib), (2)-(), (3)-(iii), 4-(iv)
D) (1)-(iv), (2)-(1), (3)-(iii), 4-(ii)




DIRECTIONS for the question: Mark the best option:

Question No.: 6

Which of the following is a possible value of

sm'll cos[.i:‘jlls

A3t B -7t 0
5 5 10 10

DIRECTIONS for the question: Mark the best option:

Question No. : 7

The value of cot (sin~1x) is

A) h+x* B = 01 D) 1-x?

= Vi+x? x

b 4

DIRECTIONS for the question: Mark the best option:

Question No. : 8

The domain of sin™! 2x is

A)[0,1] B)[-1,1] C)[_il] D) [-2, 2]

v

L L

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 9

Find the value of determinant
7579 7589
7581 7591

A)20 B)-2 ()-20 D)4
DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 10

01 U-l
The inverse of matrix A= |1 0 0 lis
00 1}
AJA B)AT Q) 10cﬂ1 DTOO]
01 0] 100
Lo 1 010

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 11
A and B are two non-zero square matrices such that AB = O. Then

A) Both A and B are singular  B) either A or B is singular  C) neither matrix is singular D) None of these




DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 12

100
IFA=|01 0].thenA’isequalto
a b -1

A)A B)-A C)null matrix D)/
DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 13

E 1 1
1 1+x 1 |equals
i 1 1+y

A)x+y Blxy Qx-y D)1+x+y

DIRECTION for the question: Solve the following question and mark the best possible option.
Question No. : 14

IfD = diag (dq, dy, d3, .., d,)), where d; # 0 foralli =1, 2, ..., n, then D1is equal to

A)D B)diag (d'-1,d2-1, ....dn-1) Q) In D) None of these

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No.: 15

If Kis a scalar and A is an n x n square matrix. Then |KA| =

A)KIAInD  BYK|Al C)KnJAn| D) Kn[A|

DIRECTION for the question: Solve the following question and mark the best possible option.
Question No.: 16

If I3 is the identity matrix of order 3, then (/3)! =

A)0 B)3I13 QI3 D) Not necessarily exists

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 17

The value of lim H 15
=0 X

A)1 B)-1 €0 D)None of these
DIRECTION for the question: Solve the following question and mark the best possible option.

Question No.: 18
Let f(x) = |x| + | x = 1|, then

A) f(x) is continuous at x = 0, aswell asatx = 1 B) f(x) is continuous at x = 0, but notat x = 1
Q) f(x) is continuous atx = 1, but notatx =0 D) None of these




DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 19

| -1
The value of lim -l
X=—ad l'_e

is

A)e B)1 Qel D)None of these
DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 20

9x+2 for x>1

f(x)-f ¢ fnd Bmfe).

|15x-4 for

1%
A)9 B)15 Q11 D)18
DIRECTION for the question: Solve the following question and mark the best possible option.
Question No. : 21

The derivative of the function log(sinx) is

A) cotx B)tanx C)cosecx D)sin2x
DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 22
Differentiation of (logx).(sinx)
A) (sinx).(1/x)  B) (sinx).(1/x) + (logx).(cosx) C) (cosx).(sinx) + logx D) (cosx).(-1/x) + 1/logx

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 23

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 24

If f (x) = tan x + e2X— 7x3, then what is the value of f '(0)?

A)-2 B)-1 Q0 D)3

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 25
Which one of the following differential equations is not linear?

A) d’y
Y 4 4y=0
dy* b dx dx

Bx@iyar OoypPog D o, b

cos” x—+y=tanx




DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 26

d*y
The order and degree of the differential equation ax*

\dx) | are respectively
A)1,2 B22 Q32 D13

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 27

What 1s the solution of the differential equation 3—1 +2=07
>l %

A)xy=c B)x=cy Cy=cx D)None ofthe above

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 28

What is the degree of the following differential equation?

3 % 2 .
|d—;‘| +4-382.5P 4
\ dx - dx

A1 B2 Q3 D4
DIRECTION for the question: Solve the following question and mark the best possible option.
Question No. : 29

The area of the region enclosed by y = x% and 2y = x is:

A)1/48 B)1/24 C)1/16 D)1/12

DIRECTION for the question: Solve the following question and mark the best possible option.
Question No. : 30

The value of J:l\'—5 dx is

A)17 B)Y15 Q21 D)12

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 31
If f(x) is an odd function then integration of f(x) on [-a, a] =

A)2 B)0O Q1 D)Does not exist
DIRECTION for the question: Solve the following question and mark the best possible option.
Question No. : 32

The anti derivative F of f defined by f (x) = 4x3 — 6, where F (0)=3is:

A) ¥ <6x-3 B)x'-6x-3 C)x-6x-3 D) x-3x+3




DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 33

o

x
EE

: sm X
,}sm X-Cos5 X

Am BT O DO
2 4

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 34

The area bounded by the curve x = f(y) the y-axis and two lines y = a and y = b is equal to:

&

Ay % B % ;3 C D) None of the above
) I_v dx ) jl dx ) j'_r dy )
a a

a
DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 35

1 mn™x g

: e
Whansf ——equalto ?
o TFX

DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 36

1
Iff(x) = a+bx+cx’, then what is | f(x) dx
0

A) [f(0) + 4f(1/2) + f(1)]/6  B) [f(0) + 4f(1/2) + f(1)]/3  C) [f(0) + 4f(1/2) + f(1)] D) [f(0) + 2f(1/2) + f(1)]1/6

DIRECTIONS: Solve the following question and mark the best possible option

Question No. : 37

A problem on mathematics is given to three students whose chances of solving it are 1/2, 1/3 and 1/4 respectively. What is the
chance that the problem will be solved?

A)2/3 B)3/4 Q1/3 D)1/2

DIRECTIONS for the question: Solve the following question and mark the best possible option.
Question No. : 38

A candidate is selected for interview for 3 posts. For the first post there are 5 candidates, for the second there are 8 and for the third there
are 7. What are the chances for his getting at least one post?

B2 Q

3

A) D)

[V S

1 9
5 5




DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 39

A can hit a target 4 times in 5 shots, B hits 3 times in 4 shots, and C hits twice in 3 shots. They fire together. The probability that at least two
shots hit the target is

A)5/6 B) (1732 C)13/30 D) None of these

DIRECTIONS for the question: Answer the question based on the following information:

An urn contains 6 red, 5 blue and 2 green marbles
Question No. : 40

If 2 marbles are picked up at random, what is the probability that both are red?

AL Bl 0

N f th
13 26 D) E) None of these

3 i
3 26

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 41

The angle between the lines whose direction ratios are 5, -12, 13 and -3, 4, 5 is -
13 —1(2 -1 x
A) cos (65) B) cos~1 (E) Q) cos—? (65) D) =

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 42
The length of perpendicular from (1 .2 ,3) to the line %" =7 _=7
A3 B)YW5 Q7 D)Ve6

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 43
Find the direction ratios of the line determined by the planes 2x-y-z=2and x + 2y -3z = 11.

At122 B1,1,1 0223 D211

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 44
Find the value of m for which the points A (m, - 1), B(2, 1) and C (4, 5) are collinear

AM=1 BM=2 COM=3 DM=4
DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 45

e

a—b

]

a+ b

is equal to

N BASs O-4Tw BEF




DIRECTION for the question: Solve the following question and mark the best possible option.

Question No. : 46

The coordinates of the tip of the position vector which is equivalent to AB where the coordinates of A and B are (3,1) and (5,0)
respectively is

A) @21 B(1-2 O(12 D)(@2-1)

DIRECTION for the question: Solve the following question and mark the best possible option.
Question No. : 47

If the points with position vectors 60 i+3].40i -8] and a i- 52 are collinear, then the value of a is:
A)-40 B)20 C)40 D)-20

DIRECTION for the question: Solve the following question and mark the best possible option.
Question No. : 48

What unit vector is parallel to the vector - 6 i4+8i?

A)_3: 4- B)_3: 4 03 D) 3:,8:

——1+—j —?+§} —?+—_|

g i3 Y 3 2. D mm 3

DIRECTIONS for the question: Mark the best option:

Question No. : 49
An optimisation problem may involve finding

A) Maximum profit  B) Minimum cost  C) Minimum use of resources D) All of the above are true

DIRECTIONS for the question: Mark the best option:

Question No. : 50
The variables of a linear programming problem are called

A) decision variables  B) Contrvints C) Objective D) None of these

QNo:- 1 ,Correct Answer:- D

Explanation:- f(x) is a continuous function that takes only rational values this is only possible if f(x) is constant. So if f(0) = 3 then

f2)=3




QNo:- 2 ,Correct Answer:- D

i TEED =1 ()

h
h—0
lim LV ()~ F()f(0)
f(x)= h

h—0

= f()tim RG] ;f (o)
Explanation:- h—o
f) = fx f(o)
now put x = 3

f'(3) =13 fo)

=3x11
=33

QNo:- 3 ,Correct Answer:- D

Explanation:-
R is neither reflexive nor symmetric.

R> is neither symmetric nor transitive.
R3 is not symmetric.
So, none of the given relations are equivalence relations.

QNo:- 4 ,Correct Answer:- C

Explanation:- Since (b,b) is not in R so R fails to be reflexive and transitive. So, it is only symmetric

QNo:- 5 ,Correct Answer:- C

The range of the trigonometric functions is as follows:

{24
Cos '(x)=[0,7]

tan ' (x)= [Ii,fl

.2 2
cot™'(x)=(0.7)
Hence the combination is (1)-(ii), (2)-(i), (3)-(iii), 4-(iv)

Explanation:-

QNo:- 6 ,Correct Answer:- D

sm‘][ i icd ] =sm™ cos{ 8 +— |
_sm_llcos—-t =sm [ 11—3—1”
=sm" l Iﬂ __ll

Explanation:-




QNo:- 7 ,Correct Answer:- D

Explanation:- Let sin”! x = g, then sing = x

= cosecB =— = cosec B=—

x xl
P
3 1 ]1-?‘.-
=1+cot =—,=>cot8=.\{
<2

X

QNo:- 8 ,Correct Answer:- C

Explanation:- Let sin"'2x = 0 so that 2x = sin 6.
Now-1<sin@ <1, ie,~ 1< 2x < T which gives

=x=

I-Jll—-
[

QNo:- 9 ,Correct Answer:- C

Explanation:- Applying R> — R> — Ry and expanding we get A = - 20

QNo:- 10 ,Correct Answer:- A

Explanation:-
5 A 2
Al=ag—and A’=AA
A
= [ for the given matrix.

Alternate explanation

Al = -1
0 -1 0
adjA=|-1 0 0
0 0 -1
A=A

QNo:- 11 ,Correct Answer:- B

Explanation:- Definition: A matrix is said to be singular if its determinant is zero.
Since |AB | = |A| |B|. Therefore AB = 0 = |AB|

= 0= |A| |B| = 0 =either |A| = 0or |B| =0

QNo:- 12 ,Correct Answer:- D

Explanation:- A° = A

1 0 0 J1 0 0 1 0 0
A=|0 1 010 1 0 (=0 1 0)|=1,
a b -11a b -1} |0 0 1




QNo:- 13 ,Correct Answer:- B

Explanation:- Apply R2 — R2 - R1, R3 - R3-R1

1 1 1]
0 X 0
0 0 ¥
and then by expanding the result would be xy

QNo:- 14 ,Correct Answer:- B

dy 00 .0
0d,0..0

LetD=|_ ~ .
Explanation:- b (61 St

Then ID' = d‘; d2 dn

and cofactor of d17 = d> d3 ... dj,
cofactor of dy; = d1 d3 ... d,, etc
cofactor of Dj=0wheni#j

~D'=—adiD
| D]
dd,.d 0 0. 0
1 |0 dd,.d, 0 . 0
dd,. d, : :
0 0 O A a2
Ky i
—00 -0
d,
00 0 P
= d, =diag(d,",d, ,---,d.)
000 -t
—- du_

QNo:- 15 ,Correct Answer:- D

Explanation:- Since k is common from each row of |KA| and there are n rows in A, therefore |kA| = k" |A.

QNo:- 16 ,Correct Answer:- C

Explanation:- The inverse of identity matrix I3 is I3 itself.

QNo:- 17 ,Correct Answer:- D

X

We have RHL fim X! = fim X1

x=0" X 0" X
And LHL lim m:ljm m= ]jmi:—l
=0 X =0 —x r=s0' =3
: % ;
Hence ]mg u does not exit.
i T "
Explanation:- *




QNo:- 18 ,Correct Answer:- A

Explanation:- We havef(x) = |x|+|x-1T]|

-2x+1, x<0 —2x+1, x<0
={x-x+1 0=x<1 = 1 0=x<1
x+x-1 xz1 2x-1 x=1
Clearly
lim f()=Llm /()=17(0)=1& lm_fC=1 lm f()=1fW=1.

So f (x) is continuous at x = 0 gs well as at x = 1.

QNo:- 19 ,Correct Answer:- C

ll.mlog x=1
Explanation:- *7¢ X—¢®
Putx=e + hwhereh -0
= i log(e +h)—loge

=0 e+h-e

" Iog(1+£] i
- lim—— /-~ _ 1
—e]!z_% B : e
e

QNo:- 20 ,Correct Answer:- C

im  9x+2 =I1
Explanation:-

Im 15x—4 =11
-l

=>h'.n} fix)=11

QNo:- 21 ,Correct Answer:- A

Explanation:- y = log sin x

1 d
dy i = S05X

— =S X=— =cotx
dx smxdx sin X

QNo:- 22 ,Correct Answer:- B

Here y = logx.sinx

Differentiating both sides w. r. t. x. we get

% =logx d(sinx) +sinx J[]og x) = (lug x)cosx)+ ]
X X

Explanation:-




QNo:- 23 ,Correct Answer:- C

Explanation:- y = e **Y)

lhy=x+ylne

lny=@(+y)

differentiating both sides, we get (1/y ) dy/dx = 1 + dy/dx
So, (1/y - 1) dy/dx = 1

So, dy/dx=y/(1-y)

QNo:- 24 ,Correct Answer:- B

Explanation:- We have
Ff(x)=tanx+e™ - 7x°
= f(x) =sec’ x-2¢~* - 21x?

= f'(0)=sec® 0-2e° -0=1-2=-1

QNo:- 25 ,Correct Answer:- A

Explanation:- A (fferential eqaution is said to be linear if dependent variable and its derivative ocurs only in first degree and not
multiplied together.

In a differential equation, if the variables and derivatives multiplied by constant, then the equation in linear

So only option 1 is linear differential equation

QNo:- 26 ,Correct Answer:- B

Explanation:- Squareing on both sides:

B

d_f} =1+ ﬁ}
dx- .J.h:_,I

So order & degree both are 2.

QNo:- 27 ,Correct Answer:- A

d.y_,

dcr  x

& _-»

de  x

— 'Qf}_’ = lﬁ == t_{‘_' + é =0
Explanation:- y x Yy x
Integrating both sides

logy +logx=c
Xy = ¢ so answer (s option 1




QNo:- 28 ,Correct Answer:- B

o |4

Thegnendtfﬁerennalequatwmsl cir3 |
| d’y 5 N d’y
| ax® ] . & dx
:>| d3"|r 2 s ﬂ_sd"
| & ] &

Explanation:-

day _
pd 3—*5
d’

As degree of a differential equation is the highest power of the highest order derivative that occurs in the equation after all the
derivatives are converted into radical and radical free form. Hence, the degree of above differential equation is 2. D

QNo:- 29 ,Correct Answer:- A

Explanation:- y = X2 and 2y =x
X
v=—
T2

X
So. —=x?
2

Both given curve will intersect at x = 0, 2

Soareajl—x:dx
2
y=x
A A

l’x:_x: 13 y
L4 3

1 i
i W

[15 24) ( )
32 1

48 48

QNo:- 30 ,Correct Answer:- A

Explanation:- |x-5|=5-xifx<5
|x - 5|-x 51fx>5

Soj'lx 5|dx = J'(s x)dx+f(x 5)dx =

QNo:- 31 ,Correct Answer:- B

Explanation:- For an odd fn, the integral over a symmetric interval equals zero, because half the area is negative.




QNo:- 32 ,Correct Answer:- B

Explanation:- F(x) = Jf(x) dx =+ (433 -6)dx=x*-6x+c
Fi)=¢=3
So, F(x) =x* - 6x + 3

QNo:- 33 ,Correct Answer:- C

I=J'_5m4.a‘x ........... )

o sin’ x+cos® x

ke HJ;2 Sinsl;z'x} T os’x
! ,‘LCGI ! .,‘_ocﬂs l+5m T ------------
, \

t«.)|~.|
.t-o|-4

Explanation:-
Adding (1) and (2)

- 3
2I=I5m X+005 X,

3 s’ x+cos’x
% g

20 = [dx= 20 =[x]?
0

QNo:- 34 ,Correct Answer:- C

] -]
[roydy=[xdy
Explanation:- .

y
A =y

N
—

v

]




QNo:- 35 ,Correct Answer:- A

tam x
[l
1+x°
let tan x=t= dx: =dt
Explanation:- I+x
Also tan™! 1 = /4
tan'l0=0
So, new limits are 0 & /4

J~:'.- 4 i P: ]:.-‘-1

=ex-’-1 _eQ

=ea"’4 _1

QNo:- 36 ,Correct Answer:- A

jf(x)d:r =J' (a+by+a)dx

o o

ot | b ¢
=lex+—+—| =a+—+—
2 3 : Z 3

Now taking option 1
f(0)+4j'1% |+ 7i1)
6

Explanation:- We have
1

a—4[a+%-§ I+[a+b+cl

6
_a—4a+2b+c+a+b+c_5a+3b+2c
3} 6

b ¢
=0 +—+—

2 3
Similarly we can check for option (B), (C) & (D)

F@+473 |+ 70
6

L

SELOLE

-]

QNo:- 37 ,Correct Answer:- B

Explanation:-

We will solve this question by complimentary method, i.e reverse probability.

The chances of not solving the question would be subtracted from 1.

Let A, B and C be the three students and P(A),P(B),P(C) be their probabilities of solving a problem respectively.
P(A)=1/2,P(B)=1/3 P(C)=1/4

P [problem will be solved at least by 1] = 1-P (not solved by A) P (not solved by B) P (not solved by C)

= 1-[1-P (A)J[T1-P (B)][1-P(C)]

= 1-(1/2) (2/3) (3/4)

=1-(1/4) = 3/4




QNo:- 38 ,Correct Answer:- C

Explanation:-
For the 1% post chances of being not selected is = %
For the 2™ post chances of being not selected is = ET
For the 3™ post chances of being not selected is = g
) - 8.2.6.3
Being not selected at all = P73
Being selecied at least in one post = 1-% =—‘:
So, answer is option C
QNo:- 39 ,Correct Answer:- A
Explanation:-
Probability of A hitting the target = %: P(A) =é
Probability of B hitting the target = %:P B =%
Probability of C hitting the target = %: PO =%
We have 2 cases. - 1. All3 hit 2.
Exactly 2 persons hit
1.P (@l 3hity= 2,3.2.2
5 43 5
4 3.1 421,332
2 Bxaclly2hit=353"4"3 5 3 4 4 35
RypZpd 09 1

So required probability = 2+ 2= 2.2

QNo:- 40 ,Correct Answer:- B

Explanation:-

R AR - O e D
C'qu]m pm llty— HC..—E

QNo:- 41 ,Correct Answer:- C

Explanation:- Angle b/w the lines with direction ratios a, b, ¢, & a, by, ¢ is given by

| a;a; +biby +¢ics ‘

2 2 ¥ 2 2 i
|Ja1‘+b; +x;Ja§ +b3 +c3

S me=| —15-48+65 |=|L|
V52 +122 +13243% + 42 + 52| |65

©=cos' (1/65

cosfi=

QNo:- 42 ,Correct Answer:- D

Explanation:-




QNo:- 43 ,Correct Answer:- B

Explanation:- Let the equation of line is ax+by+cz=d
Then, 2a-b-c=0 and a+2b-3c=0

Solving for b and c in terms of a, we get,

a=cand a=b

So, the direction ratios are 1,1,1

QNo:- 44 ,Correct Answer:- A

Explanation:- Area of AABC =0

=m(1-5+@2-49)+1(10-4)=0
=>-4dm-2+6=0
=2>-dm=-4=>m=1

QNo:- 45 ,Correct Answer:- B

1o
-

a

-

a

-

+|b| —2|a|d

|

Explanation:-

QNo:- 46 ,Correct Answer:- D

Explanation:- A (3, 1) and B(5, 0)
So AB = [(5-3), (0-1)]
@ -1

QNo:- 47 ,Correct Answer:- A

Let A=60i+3j,B=40i-8 j and C=ai-52 j
. AB= (40— 60)i+ (-8 —3) j=—20i-11 j

AC=(a—60)i+(-52—3) j= (a—60)i—55]

As AB & AC are collinear = 2 :i
a—60 —55
= s e
a—-60 5

= a=—40

Explanation:-




QNo:- 48 ,Correct Answer:- B
Explanation:- The unit vector parallel to the vector —6 i + 8 j is given by

—61:+8_} . —6;+8}
36+ 64 10

QNo:- 49 ,Correct Answer:- D

Explanation:- An optimisation problem can deal with maximistion of profit, minimization of cost or usage of resources

QNo:- 50 ,Correct Answer:- A

Explanation:- The variables of a linear programming problem are called decision variables




